Informational Report for the February 21, 2012 Board of Trustees Meeting

				New Emp			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	to District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College	e Community Edu	ucation										
					To teach Guitar to	Community						
D '''					community	Education	l l	# 45 00	00	# 4 050 00	0/05/0040	5/40/0040
Brill	Bruce	nmi	Chabot	No	education students		Hourly	\$45.00	30	\$1,350.00	2/25/2012	5/19/2012
					To teach Tae Kwon	Community						
					Do to community	Education						
Deguzman	Rudolfo	S.	Chabot	No	education students		Hourly	\$25.00	17	\$425.00	1/24/2012	5/15/2012
					To teach Dance to	Community						
					community	Education						
DeLeon	Emerlita	A.	Chabot	No	education students		Hourly	\$35.00	16	\$560.00	2/25/2012	4/21/2012
					To teach Water	Community						
					Aerobics to	Education						
					community							
Hawtrey	Nancy	S.	Chabot	No	education students		Hourly	\$45.00	40	\$1,800.00	1/17/2012	5/30/2012
					To teach Painting to							
					community	Education						
Hsu	Alice	F.	Chabot	No	education students		Hourly	\$35.00	10	\$350.00	2/23/2012	3/15/2012
					To teach	Community						
					Community Band to	Education						
					community							
Johnson	Beverly	M.	Chabot	No	education students		Hourly	\$45.00	26	\$1,170.00	1/23/2012	5/21/2012
					To teach Belly	Community						
					Dancing to	Education						
					community		Per					
Karpeles	Rachelle	M.	Chabot	No	education students		Student	\$31.60	24	\$758.40	2/14/2012	4/28/2012
					To teach Chinese to	,						
					community	Education						
Kuo	Diana	S.	Chabot	No	education students		Hourly	\$45.00	24	\$1,080.00	2/29/2012	5/16/2012

Informational Report for the February 21, 2012 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To teach Computer	Community						
					Maintenance to	Education						
Mockel	Dennis	E.	Chabot	No	community education students		Hourly	\$40.00	21	\$840.00	2/25/2012	3/31/2012
WOCKEI	Dennis		Onabot	140	To teach Skin Care	Community	riouriy	Ψ+0.00	21	ψ0+0.00	2/23/2012	3/31/2012
					to community	Education						
Palmer	Angela	R.	Chabot	No	education students		Hourly	\$30.00	6	\$180.00	2/29/2012	3/28/2012
					To teach Line	Community						
					Dancing to	Education						
Moorgoottor	Rosalie		Chabot	No	community		Hourly	\$45.00	24	\$1,080.00	1/17/2012	5/3/2012
Woergoetter	Rosalle	Α.	Chabot	INO	education students		Поипу	\$45.00	24	\$1,060.00	1/17/2012	3/3/2012
Chabot College												
					To provide project	School of the						
					services for	Arts						
					television station		l	• • • • • •	/			
Chou	Betty	nmi	Chabot	No	operations		Hourly	\$16.00	20/week	\$8,320.00	1/2/2012	6/30/2012
					To provide video	Language						
					expertise for Title III Student Voices	Arts						
					video project							
					including cameras,							
					computers, and							
Dolotov	Alexey	nmi	Chabot	No	editing		Hourly	\$15.00	130	\$1,950.00	1/6/2012	5/1/2012
					To provide support	Student				,		
					to foster youth, and	Services						
					coordinate services							
Moore	Cherrie	A.	Chabot	No			Flat	\$2,500.00	18/week	\$2,500.00	1/3/2012	6/30/2012

Informational Report for the February 21, 2012 Board of Trustees Meeting

				New Emp			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	to District		Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To proctor hospital exams to students	Health, Physical Education	Per					
Pedro	Lisa	M.	Chabot	No		and Athletics	Student	\$190.00	n/a	n/a	1/2/2012	6/30/2012
Dilama	O. His	_	Oh all ai	N	To provide support to foster youth, and coordinate services	Student Services		Ф0 500 00	40/	Фо 500 00	4 /0 /0040	0/00/0040
Roberson Jr.	Cedric	E.	Chabot	No	To provide support for the student voices video project	Language Arts	Flat	\$2,500.00	18/week	\$2,500.00	1/3/2012	6/30/2012
Roberson Jr.	Cedric	E.	Chabot	No	for Title III		Hourly	\$12.00	130	\$1,560.00	1/6/2012	5/31/2012
Shimada	Alisha	N.	Chabot	No	To provide support for the student voices video project for Title III	Language Arts	Hourly	\$15.00	200	\$3,000.00	1/6/2012	5/31/2012
Symes	Jessica	D.K.	Chabot	No	To proctor hospital exams to students	Health, Physical Education and Athletics	Per Student	\$190.00	n/a	n/a	12/16/2011	6/30/2012
Las Positas Co	Ilege Community	y Educa	tion									
Brennan	Edward	W.	Las Positas	No	To teach Gardening to community education students	Community Education	Hourly	\$30.00	50	\$1,500.00	1/15/2012	6/30/2012
Calcagno	Cheri	R.	Las Positas	No	To teach wellness and activity classes to community education students	Community Education	Hourly	\$30.00	50	\$1,500.00	1/15/2012	6/30/2012
Calcagilo	Official	17.	Las i Ositas	1140		L	1 lourly	ψου.υυ	30	ψ1,000.00	1/ 10/2012	0/00/2012

Informational Report for the February 21, 2012 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To teach Art to	Community						
Field	Katrin	M.	Las Positas	No	community education students	Education	Hourly	\$30.00	50	\$1,500.00	1/15/2012	6/30/2012
i leiu	Ratilii	IVI.	Las Fusitas	INO	To teach Dance to	Community	Tiourty	φ30.00	30	\$1,500.00	1/13/2012	0/30/2012
					community	Education	Per					
Proctor	Sherry	L.	Las Positas	No	education students		Student	\$29.00	n/a	n/a	1/15/2012	6/30/2012
Las Positas Co	ollege											
	Ĭ				To provide sign	Disabled						
					language	Student						
l	5			.,	interpretation	Programs and		^-		***	=	- (0.4 (0.0.4.0
Allen	Brittany	A.	Las Positas	Yes	services	Services	Hourly	\$50.00	200	\$10,000.00	1/17/2012	5/31/2012
					To provide sign	Disabled						
					language	Student						
Grigsby	Gabrielle	K.	Las Positas	No	interpretation services	Programs and Services	Hourly	\$50.00	200	\$10,000.00	7/1/2011	6/30/2012
Origaby	Gabrielle	17.	Las i Ositas	110	To provide	Business,	Tiourty	ψ50.00	200	ψ10,000.00	77172011	0/30/2012
					automotive training	Computing,						
					for General Motors	and Applied						
Hagopian	Brian	J.	Las Positas	No		Technology	Hourly	\$53.00	920 hours	\$48,760.00	1/2/2012	6/30/2012
					To provide							
					coordination and							
					training for the							
					Foster and Kinship	Early						
11-	A	١.	L D 't	NI.	Care Education	Childhood	I I a control	0.45 00	050	# 00.050.00	4/0/0040	0/00/0040
Loyola	Anne	L.	Las Positas	No	program	Development	Hourly	\$45.00	850	\$38,250.00	1/2/2012	6/30/2012
					To provide job	Disabled						
					development support for disabled	Students Programs and						
Montalvo	Debra	l,	Las Positas	No	students	Services	Hourly	\$28.90	40/week	\$30,056.00	1/3/2012	6/30/2012
Montaivo	Dona	μο.	Las i ositas	1.40	Students	OCI VICES	Libuity	Ψ20.30	TO/ WOOK	ψου,υου.υυ	1/3/2012	0/00/2012

Informational Report for the February 21, 2012 Board of Trustees Meeting

Last Name	First Name	МІ		New Emp to District		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
						Health Sciences						
Ong	Dennis	nmi	Las Positas	No			Hourly	\$75.00	80	\$6,000.00	2/15/2012	6/30/2012
					expertise in Statistical Package for Social Sciences, Teleform Survey Software, and	Research and Development						
Rodriguez Molina	Juan	D.	Las Positas	No	Brioquery		Hourly	\$17.50	480	\$8,400.00	1/13/2012	6/30/2012